3.3um CCTV Lens / 3.3 u migIehICCTVEES

VS-VM Series
2/3"

[ VS-VMZ3FI ]

ARz 3.3umigit, EHUSTELECCTVE:L
EE6MmM~50mm, 7EELaHtisiR
FXBFNO1.8, WEiRit

SV-04514V

30.4 17.526 29.5 17.526
2.5 _|4 4
2-M1.7 Lock screw \@ 4.8 2-M1.7 Lock screw 3.7
ol o3 I | @ ol o3 <
g = — —Er— < g 2 ] <
e . | N o e e o
N \_C-mount B
X JREEEOIR : SV-FAD28-305 X IREEEEOH : SV-FAD28-305
VS-0620VM VS-0818VM VS-1218VM
39 17. 526, 38.5 17. 526, 3.5 17.526
2-M2 Lock screw 4 4 4
2.1 3.2 )
o] = b 0
] 2 . \ S
P i g = 0 & g - - = ?—g - —{ < @ é
85 e g ' e 5 TE
\_C-mount
Crmount 2-M2 Lock screw
VS-2518VM VS-3518VM
17026 29 17.526_ 33.5 17.526_
4 4
4
2 2.9 —»W«
5 o} _ )
e o] =z o
4 5 w g B &
2 5 d4 P AR © > = _
o8 g g5 o 2 g TE e
C-mount C-mount
2-M2 Lock screw 2-M2 Lock screw
VS-5026VM SV-7527V SV-10035V
42 17. 526, A )
39 17.526_ 4.9 1752
4
- 4 ——
“ 2.6 2.1
= g J
S| & 4
AI. % = o~ | o ~ 0| '-D
i=2] ~ S| —_— 5| —1_
g 5 S - = g 2 g g
C-mount
2-M2 Lock screw
L SV-03514V SV-04514V VS-0620VM VS-0818VM VS-1218VM VS-1618VM
FRIE 3.5 mm 4.5 mm 6mm 8mm 12mm 16mm
ENO F1.4 F1.4 F2 F18 F1.8 F1.8
ELb=: 77.8° x 105.9° 59.7° x 79.9° 484°x619° 37.0x482° 25°x326° 188°x246°
ZEEWD 200 mm 200 mm 100 mm 100mm 100 mm 100 mm
TV&eE -14.65 % -8.15 % -142% -119% -0.19% -0.14%
BIERE Manual (Lock screw M1.7) Manual (Lock screw M1.7) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
BEETH 1/2" 1/2" 118" 1/1.8" 118" 1/1.8"
BEOR M27 P=05 M27 P=05 M27 P=05 M27 P=05
sy 529 54 g 629 649 609 589
ik VS-2518VM VS-3518VM VS-5026VM SV-7527V SV-10035V
s 25mm 35mm 50 mm 75 mm 100 mm
FNO F1.8 F1.8 F26 F2.7 F3.5
Fi =] 121°x159° 11.7°x138° 8.1°x96° 3.6°x4.7° 2.9° x 3.8°
EEWD 250 mm 250mm 400 mm 1000 mm 1000 mm
TVEE -0.15% -0.12% 0.01% 0.55 % 0.56 %
RIETE Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M1.7) Manual (Lock screw M1.7)
EEH 118" 2/3" 2/3" 172" 172"
Pt mEc M27 P=05 M27 P=05 M27 P=05 M30.5 P=0.5 M30.5 P=0.5
B8 60g 489 549 749 769

HOURS

www.hours-web.com




3.3umCCTVLens VS-VM Series

I - fERR

SV-03514V SV-04514V VS-0620VM VS-0818VM

4.5 f6
~200 ©~100

E &k (&8Zmm) 200 200 100 100
98.2x129.1 75.0x98.6
— WENE (KRR - %R ) 266.7x355.6 218.2x290.9 87.3x116.4 66.7x88.9
WD 103+ 130 — T1ERES 200 0x266 7. 163.6x218.2 63.45x87.27 50.0x66.67
5 13" 14x19 1925 — 1/37 {EHATE R 0.018x 0.022x 0.055x 0.072x
12" 18x24 | 24x32  —> 1/2” {EHIFEE | | 635 | 327 1197 | 47

E 025 020 —> HELEE

] ! 66.7x87.7 | 39.7x52.2  88.5x116.4 | 40.6x53.4
| i 59.3x79.0 | 35.3x47.1 78.7x104.9 | 36.1x48.1
f i 0.081x | 0.136x 0.061x | 0.133x

v
BINEE (t)

VSs-1218VM Vs-2518VM VS-3518VM VS-5026VM SV-7527V SV-10035V
12 25 35 50 75 £100
0~100 o0 ~250 o0~ 250 20 ~400 ©~1000 0 ~1000
WD 100 100 250 250 400 1000 1000
”n.8" 50.9x67.0 36.0x47.3 55.7x73.2 38.6x50.7 39.4x51.8 60.0x80.0 48.0x64.0
12" 45.3x60.4 32.0x42.7 49.5x66.0 34.3x45.7 35.0x46.7 45.0x60.0 36.0x48.0
&% 0.106x 0.150x 0.097x 0.140x 0.137x 0.080x 0.100x
WD 2830 | 68 5180 | 816 12570 | 2056 24831 | 2267 50342 | 3750 i i
05 VI8 1817x1732 | 367x483  174.2x2290 | 30.0x30.4  270.0x3550, 466x612  3GIXE07.1, 351xd61  5400x7100 | 36.7x483 ! :
12" 117.0x156.1 | 327x435  154.8x206.5 | 26.7x35.6  240.0x320.0| 41.4x552  342.9x457.1 31.2x41.6  480.0x640.0 | 32.7x435 ; :
% 0.041x 0.147x 0.031x | 0.180x 0020x | 0.116x 0.014x | 0.154x 0.010x | 0.147x | |
WD 1340 50.0 2587 | 683 6381 | 1734 11993 | 207.9 2534.6 | 3534
. ‘

25.6x33.6 138.5x182.1 | 39.7x52.2 186.2x244.8 32.1x42.3  270.0x355.0 | 34.4x45.2
22.7x30.3 123.1x164.1 ' 35.3x47.1 165.5x220.7.  28.6x38.1  240.0x320.0 | 30.6x40.8

1/1.8" 65.9x86.6
1/2"  58.5x78.0

28.7x37.8 88.5x116.4
25.5x34.0 78.7x104.9

i i
fER  0.082x 0.188x 0.061x 0.211x 0.039x 1 0.136x 0.029x | 0.168x 0.020x | 0.157x i
WD 843 | 383 1685 | 586 40173 | 1495 809.1 | 1909 17014 | 3343 41658 | 8203 !
15 18 439x577 | 236x31.0  58.7x77.2 | 22.4x295  91.5x120.3 ' 34.6x455 125.6x165.1' 29.5x38.8  180.0x236.7 | 32.3x42.5 24003200 | 46.2x615 |
12" 39.0x520 | 21.0x27.9  522x69.6 | 19.9x266  814x1085 | 30.8x41.0 111.6x148.8] 262x35.0 160.0x213.3 | 28.7x38.3 18002400 | 34.6x462 :
fE2 0123x | 0.229x 0.092x ' 0.241x 0.059x | 0.156x 0.043x | 0.183x 0.030x | 0.167x 0020x ' 0.104x '
WD 595 T 302 124.8 50.9 308.2 131.8 600.1 177.4 1284.8 317.4 31854 7770 5016.3 8455
, 18 329433 | 200x263  44.3x58.2 | 19.9x26.1 68.4x89.9 | 30.9x40.6 93.1x122.4. 27.4x36.0  135.0x177.5 | 30.5x40.1 18462062 | 42.9x57.1 WHAM8 | 372496
12" 29.3x39.0 | 17.8x237  39.3x525 | 17.6x235 60.8x81.0 | 27.4x 36.6 82.8x110.3| 24.4x325  120.0x160.0 ' 27.1x36.2 138501846 | 32.1x42.9 Maess | 27.9x37.2
f&=  0.164x | 0.270x 0.122x | 0.272x 0.079x | 0.175x 0.058x | 0.197x 0.040x | 0.177x 0026x | 0.112x 0021x | 0.129x
WD : : 1156 1 733 2423 | 1238 5349 | 2459 14205 | 6078 2681 7121
5 N 0 i 27.4x36.0 | 18.4x24.2 37.5x49.3 | 19.1x25.1  54.0x71.0 ! 22.8x30.0 738x985 | 30.2x403 9231231 | 27.6x368
12 ] i 24.4x325 | 16.4x21.8 33.3x44.4 | 17.0x22.6  48.0x64.0 | 20.3x27.0 554x738 | 22.6x30.2 69.2x923 | 207x27.6
f&= | ! 0.197x ! 0.293x 0.144x ] 0.283x 0.100x ! 0.237x 0.065x : 0.159% 0.052x : 0.174x
WD ! 0 511 | 385 1217 | 824 2849 | 1833 8322 | 4754 13521 595.7
o e ' ] 13.7x18.0 | 11.0x14.5 18.8x24.7 | 12.6x16.6  27.0x355 | 16.0x21.1 369x492 | 20.2x269 462x615 | 19.4x259
1/2" | ' 12.2x16.2 | 9.8x13.1 16.7x22.2 | 112x150  24.0x32.0 ' 14.2x19.0 27.7x369 | 15.1x20.2 346x462 | 146x19.4
= : | 0.394x | 0.490x 0.288x | 0.427x 0.200x | 0.337x 0130x | 0238 0104x | 0.247x
WD ! : 1 815 | 619 2016 1 1494 6361 | 4090 10468 | 5327
5 N8 U ‘ 12.5x16.4i 9.5x12.4 18.0x23.7 ‘ 12.4x16.2 245x32.7 15.1%20.2 30.6x40.8 15.0x19.9
1/2" ! : | 11.1x14.8 | 8.4x11.2 16.0x21.3 | 11.0x14.6 184x245 | 11.4x15.1 22.9%306 | 112x15.0
fas 0 0 ! 0432x | 0.571x 0.300x | 0.437x 0.196x | 0317x 0.157x ! 0.321x
WD v v I 613 | 496 1599 | 128.1 5381 | 369.1 8941 | 4933
o 118 . ! 9.4x123 | 7.6x99 135x17.8 | 10.1x132 18.4x245 I 12.1x16.2 230306 | 12.2x162
12" ! : ! 83x11.1 | 6.7x9.0 12.0x16.0 | 8.9x11.9 138x184 | 9.1x12.1 17.2x230 | 91x122
ek y ! | 0.576x |  0.715x 0.400x | 0.537x 0261x | 0396x 0209 | 0.395x
WD g : ! 493 M5 1349 1 1134 4792 | 3425 8025 | 466.3
RES ' } 7.5%9.9 6.3x8.3 10.8x14.2 } 8.5x11.1 147196 | 101x135 184x245 | 103x137
1/2" | i i 6.7x89 | b5.6x75 9.6x12.8 1 7.5x10.0 110x147 | 7.6x101 138184 | 77x103
o U : ! 0719x |  0.859x 0500x ' 0.637x 0326x | 0.474x 0261x | 0468x
WD ! i ! 493 | 357 1183 | 1028 400 | 334 w4 446.6
o 8 0 ! w 6382 | 54x71 9.0x118 | 7.3x96 1234164 | 87116 153x204 | 89x118
Py T ! ! 56x7.4 | 48x64 80x10.7 | 6.5x8.7 9.2x123 | 65x8.7 115x153 | 66x8.9
8= : . 1 0.863x |  1.003x 0.600x | 0.737x 0391x | 0553x 0313 | 0542
WD ! : ! k5 313 1064 | 947 4120 3091 6978 | 4316
. 1/1.8" : ' } 5.4x7.1 ' 4.7x6.2 7.7x10.1 1 6.5x8.5 105x140 | 7.6x10.1 13AX176 | 7.8x104
12" i : 1 48x64 | 42x5.6 69x9.1 | 57x7.6 7.9x105 | 5x1.6 98x131 | 5878
o ! ! ! 1.007x | 1.147x 0700x | 0.837x 0456x | 0632 0366x | 0.616x
G : 0 ! | 975 | 883 3910 | 2980 665.1 | 4198
0 N8 : ' ! ! 68x89 | 58x.6 92x123 | 6.8x90 115x1563 | 7.0x93
12" g | ! | 6.0x8.0 | 5.1x6.8 69x9.2 | 5.1x68 86x115 | 5270
e : T ! 3 0.800x | 0.937x 0522x | 0711 0418x | 0.690x
WD T ! ! ' 905 | 832 3747 | 2891 6396 | 4103
o N8 : ; ; : 60x7.9 | 5.2x6.8 82109 | 61x81 0236 | 63384
1/2" | ! ! ! 53x7.1 1 4.6x6.2 6.1x82 | 46x6.1 77x102 ! 4.7x6.3
fers g ' ] ! 0.900x | 1.037x 0587x | 0.790x 0470x__ | 0763
G u y ] j 850 | 789 3616 | 2818 6193 4025
0 V¥ i ! ! ' 54x71 | A7x6.2 74x98 1 55x74 92x123 | 5Ix16
v : ' ; ! 4.8x6.4 | 4.2x56 55x7.4 | 41x55 69x9.2 | 4.3x6.7
e T T ! | 1.000x 1 1137x 0652x | 0.869x 052x | 083%x

HOURS °

www.hours-web.com



Mega Pixel Machine Vision CCTV Lens/ s#g=cCcTvE:L

SV-H Series

PrENMMSN2/SRIFnoA1.48RERL, JUNM2005~500G5&EMNE
FEERY, —MBONMRBALETUWROERERL, ERAOMHFLDLEMD

FRE TR HT T ALK

EREBME~100mmL1240H18, SAEINCCTVRABLHLETESEE,

BXHUEER, MZHNBAEEM. RESRSWEH.

SV-0614H SV-0814H

51.5 17. 526, 52.5 17. 526,
2-M1.7 Lock screw 4 2-M1.7 Lo
4
2 =M wl
i ! £
& s : w0 4
g ! s | o al = 9 2
S g S 3 3 3 8 N
\_C-mount
SV-1614HF SRS SV-2514H
53.5 17. 526, 36 17. 526
@{z Lock screw 4 2-M1.7 Lock scre 4
\m 3.1 3.5
] | = =
T H g .
wl o) w o ©w t gg w
238 0 |¢ — g 28y T g
C-mount
SV-5014H SV-7525H
51.5 17.526_, 49.5 17.526_,
2-M1.7 Lock screw 4
3 2 £ ‘
5 g : b B
= o g
198 I B ¥ -
~ - C-mount

1 /hI5E

__sv-0014H _ JINEVIRN  sv-1214+

FHER

48 17. 526,
4
1]
X |
S|
iy L
.
g8 |—1 «*--4{ g g

Slis-v82 2wl

2-M2 Lock screw C-mount

SV-3514H

| 45.5 17.526

o)
J
i .
= I N e
338 Ik 3
SV-10028H
66.5 17.526_,
2-M1.7 Lock screw 4
Lo E ‘
(=1 ?
& g
o Lo|
«© ~| —t - — -+ - —BF— 38 -
2z s
- G-mount

34 17. 526 51 17.526, 41.5
4 . 2-M1.7 Logk
. 0 screw
25 2-M1.7 Logk screw 36
r= = 1 T e
T = gl b _ .
w0 || w| o = = w a >
glgl 8 E ———4932&5 8 g § =
s e 7 = © B 4 S - ® 3 = 0z
] = = |5
' E = = L_| =
2-M1.7 Lock screw \_C-mount

17. 526, 39 17.526_
42 p 2-M1.7 Lock s¢rew 4
< g
S| =
g =
5T S Y ISP I ——~{
RSy =

SV-0614H SV-0814H SV-1214HF SV-1614HF SV-2514H SV-3514H SV-5014H

j=3ii3) 6 mm 8 mm 12 mm 16 mm 25 mm 35 mm 50 mm
FNO F1.4~ 16 F1.4~ 16 F1.4~16 F1.4~ 16 F1.4~ 16 F1.4~16 F1.4~16
=2} 60.3° x 69.0° 47.9° x 55.4° 33.4°x39.1° 24.5° x 28.9° 16.2° x 19.1° 11.6° x 13.7° 8.1"x 9.6°
ZEEWD 100 mm 100 mm 100 mm 100 mm 150 mm 200 mm 300 mm
TVEE -0.06 % 0.10 % 0.04 % -0.18 % -0.06 % -0.13% 0.02 %

- N Manual

BAETA (Lock screw M1.7)

EASE 2/3" 2/3" 2/3" 2/3" 2/3" 2/3" 2/3"
BEOR M405 P=05 M355 P=05 M34 P=05 M355 P=05 M27 P=05 M355 P=05 M405 P=05
FE 142g 124 g 112g 124 g 60 g 142 g 165 g
ks SV-7525H SV-10028H SV-0914H SV-1214H SV-1614H SV-5026H
=i 75 mm 100 mm 9 mm 12 mm 16 mm 50 mm
FNO F2.5 ~ Close F2.8 ~ Close F1.4 ~ Close F1.4~ 16 F1.4~ 16 F2.6 ~ Close
Ey=:] 8.6° x 8.6° 6.6° x 6.6° 43.4° X 51.0° 32.4° x 37.9° 24.8° x 29.2° 8.1° x 9.6°
ZEWD 1200 mm 2000 mm 100 mm 100 mm 100 mm 500 mm
TV&E 0.05 % 0.08 % -1.94 % 0.06 % -0.16 % 0.01 %
S iRak (Locﬂdgcr:gevl M2)
EESH 1" 1 2/3" 2/3" 2/3" 2/3"
BROR M34 P=05 M375 P=0.5 M27 P=0.5 M27 P=0.5 M27 P=05 M27 P=05
58 84g 104 g 549 80g 769 549

HOURS

PEEE————
www.hours-web.com



Mega Pixel Machine Vision CCTVLens SV-H Series

SV-0814H SV-1214H SV-1614H SV-2514H SV-3514H SV-5014H SV-5026H SV-7525H SV-10028H
f8 12 125
00~ 100 00~ 100 00~ 150

100 100 100 100 150 1200 2000
o 2B 134.0x158.5 101.4x120.0 68.9x81.6 52.2x61.8 47.7x56.4 42.0x49.7 42.3x50.0 65.7x77.8 102.9x121.7 136.5x161.5
172" 90.6x120.8 68.6x91.4 46.6x62.1 35.3x47.1 32.2x43.0 28.4x37.9 28.6x38.1 44.4x59.3 69.6x92.8 92.3x123.1
fisE 0.053x 0.070x 0.103x 0.136x 0.149x 0.169x 0.168x 0.108x 0.069x 0.052x
WD 588 | 206 1125 | 457 2805 | 67.2  503.0 | 797 12320 . 1338 24937 | 1905 1 i i i
05 /3" B6x1024/52,6622 1127133534x63.2 1732049/49.3x58.3 2002710, 42.5650.3 366.0:420.0,42.0x49.7 5076000, 38.8x45.9 ! j g j
1/2"  58.5x78.0,35.6x47.4 76.2x101.6]36.1x48.1 117.1x156.1| 33.3x44.4 154.8x206.5, 28.7x38.3 240013200, 28.4x37.9 342.9x457.1, 26.2x35.0 | i i i
{85 0082 . 0135  0.063x | 0133  0.041x | 0.144x  0031x | 0.167x 0.020x . 0.169x 0.014x ! 0,183x 1 | | |
wD ' i 1324 | 487 2417 | 645 6071 ' 1182 12004 !| 1760 25027 | 277.0 25346 | 4255 ! !
, 2 ; 87.7x103.7338.6x45.7 114.5x135.5535.9x42.4 177.5x210.0537.6x44.4 244.8x289.7i35.9x42.4 355.0)(420.0337.8)(44.7 355.0x420.0355.5x65.6 3
172" ' ‘ 50.3x79.0, 26.1x34.8 77.4x103.2124.2x32.3 120.0x160.0. 25.4x33.9 165.5x220.7. 24.2x32.3 240.0x320.0125.5x34.0 240.0320.0, 37.5x50.0 : |
fisk : 1 0081x | 0.184x _0.062x | 0.198x _ 0.040x ' 0.189x _ 0.029x ' 0.198« _0.020x ' 0.188x _ 0.020x | 0.128x i w
WD 0 ; 814 | 365 1547 | 534 3988 | 1055 8074 | 1643 1669.3 | 2636  167.7 | 397.2 38564 | 950.1 ]
s 23 1 58.2x68.9331.6x37.3 76.3)(90.3531.0)(36.7 118.3x140.0534.0x40.2 165.1x195.3i33.5x39.6 236.7x280.0335.9x42.4 236.7x2&0.0351.4x60.9 355.0x420.0579.8x94.4 ‘
12" | | 39.3x52.5121.3x28.4 51.6x68.8121,0x27.9 80.0x106.7123.0x30.6 111.6x148.8122.6x30.2 160.0x213.3124.2x32.3 160.0x213.3134.8x46.4 240.0x320.0/ 63.9x71.9 |
fax 0 ! 0.122x | 0.225x  0.093x | 0.229x  0.060x | 0.209x  0.043x ' 0.212x  0.030x | 0.198x  0.030x | 0.138x  0.020x ' 0.089x .
WD | i | 1122 | 452 2947 | 95.1 607.4 | 1541 12527 | 251.4 1261 | 3728 28839 | 8969  5021.5 | 1490.6
, 2B | | | 57.7x68.3 27.4x32.4 88.8x105.0131.0x36.7 124.6x147.4131.4x37.2 1775x210.0134.1x40.4 177.5x210.0148.0x56.8 263.0x311.1, 74,7x88.4 355.0x420.0198.6x116.7
172" ' ! ! 30.0x52.0! 18.5x24.7 60.0x80.0'21.0x27.9 84.2x112.3 121.2x28.3 120.0x160.0/23.1x30.8 120.0x160.0! 32.4x43.2 17782310/ 50.5x67.4 240.0x320.0! 66.7x88.9
fas | i i 0.123x | 0.259x  0.080x | 0.229x  0.057x | 0.226x  0.040x | 0.208x  0.040x , 0.148x  0.027x |, 0.095x  0.020x | 0.072x
WD : l l | 107.2 © 575 2381 1 1114 5027 | 197.6 5349 | 2753 12266 . 663.1  2049.8 | 1081.8
5 3 ' i ! ' 35.5x42.0120.3x24.1 49.7x58.7122.8x26.9 71.0x84.0126.5x31.3 71.0x84.0134.1x40.4 106.0x125.4152.6x62.2 139.2x164.7' 68.9x81.6
172" 0 ] : g 24.0x32.0'13.8x18.3 33.6x44.8'15.4x20.5 48.0x64.0'17.9x23.9 48.0x64.0/23.1x30.8 71.6x95.5! 35.6x47.4 94.1x1255 | 46.6x62.1
fax 3 i | : 0.200x | 0349  0.143x | 0.312x  0.100x | 0.268x  0.100x | 0.208x 0.067x . 0.136x  0.051x | 0.103x
WD i | i i 47 | 315 1157 1 761 2527 | 1469 2849 | 1973 6715 | 4790 10911 | 767.4
0w 2 0 ; ; 0 17.8x21.0'12.9x15.3 24.8x29.4'15.6x18.5 36.5x42.0119.3x22.8 35.5x42.0!23.1x27.3 53.4x63.2/35.1x41.6 69.6x82.4!46.1x54.5
172" 0 i l 0 12.0x16.0| 8.7x11.7 16.8x22.4,10.5x14.1 24.0x32.013.0x17.4 24.0x32.015.6x20.8 36.1x48.1,23.8x31.7 47.1x62.731.2x41.6
f5 | | i | 0400x | 0549x 0.286x | 0.455x  0.200x | 0368 0.200x | 0.308x 0.133x | 0.202x  0.102x | 0.154x
wD ! ! ! ! ' 751 ' 578 1693 | 1179 2016 | 1575 4827 ' 3866 7716 | 609.5
B 2/3" E i 3 : : 16.6x19.6i11.9x14.1 23.7x28.0315.2x17.9 23.7x28.0317.4x20.6 35.5x42.0526.4x31.2 46.4x54.9334.6x41.0
172" | ‘ | | i 11.2x15.01 8.0x10.7 16.0x21.3110.3x13.7 16.0x21.3111,8x15.7 24.0x32.0. 17.8x23.8 31.4x41.8123.4x31.2
EES y 1 I 0 ! 0.428x | 0597x  0300x ' 0.468x  0300x ' 0408« 0200x ' 0.269x  0.153x ' 0.205x
wD [ ; : 0 0 546 | 465 1277 | 99.1 1599 | 1334 3887 | 3317 6095 | 5130
0 23 l ‘ 12.4x14.75 9.6x11.4 17.8x21.0312.5x14.8 17.8x21.0114.0x16.5 26.6x31.5,21.2x25.1 34.6x41.0127.6x32.7
12" i | | | i 84x11.2 | 65x8.6 12.0x16.0' 8.5x11.3 12.0x16.01 9.4x12.6 18.0x24.0' 14.3x19.1 23.4x31.2!18.7x24.9
% i ! B | | 0571x | 0.740x  0.400x | 0.568x  0.400x | 0.508x  0.267x | 0.335x  0.205x | 0.257x
WD i | | | i 423 | 388 1027 | 859 1350 | 117.2 3324 | 2944 5145 | 4500
s 23 | | | i i 9.9x11.8 | 8.0x95 14.2x16.8/10.6x12.6 14.2x16.8111.7x13.8 21.3x25.1117.7x20.9 27.7x32.8123.1x27.3
172" ! ! ! 0 g 6.7%9.0 | 54x72 9.6x12.8 | 7.2x9.6  9.6x12.8 | 7.9x10.5 14.4x19.2'11.9x15.9 18.8x26.0' 16.6x20.8
fg | i i \ | 0.714x | 0.883x  0.500x | 0.668x  0.500x , 0.608x  0.334x , 0.402x  0.256x ; 0.308x
) | l | i 0 341 1 333 860 | 762 1183 | 1056 2053 .| 267.8  451.0 | 4049
0 23 ' i ! ' ' 8.39.8 | 6.9x8.2 11.8x14.0 9.2x109 11.8¢14.0/10.0x11.9 17.8x21.0' 16.1x17.9 23.1x27.4!19.8x23.4
1/2" . | i | . 5.6x7.5 | 47x62 8.0x10.7 | 6.3x8.3 8.0x10.7 | 6.8x9.0 12.0x16.0,10.2x13.6 15.6x20.8,13.4x17.8
fE : 1 l | i 0.857x | 1.026x 0.600x | 0768x  0.600x | 0.708x 0.400x | 0.469x  0.307x | 0.359x
WD - ! ! ! - 741 1 687 1064 | 968 2684 | 2478 4056 | 3710
5 23 i ! ; g i 0 10.1x12.0' 8.2x0.7 10.1x12.0! 8:8x10.4 15.2x18.0,13.2x15.7 19.8x23.5,17.3x20.5
12" | | i i | i 6.9x9.1 | 55x7.4  6.9x9.1 | 5.9x7.9 10.3x13.7, 9.0x11.9 13.4x17.9/11.7x15.6
fissg i | i | | | 0700x | 0868x 0700x | 0.808x 0467x | 0536x  0.358x | 0.410x
WD ' ‘ ‘ i — i 652 ! 627 975 | 90.0 2483 | 2325 3716 | 3446
@ 2/3" : E 8.9x10.53 7.3x8.7 8.9x10.53 7.8x9.3 13.3x15.7i11.8x14.0 17.4x20.5315.4x18.2
12" i TR - i 6.0x8.0 | 5.0x66 6.0x8.0 | 53x7.0 9.0x12.0 1 8.0x10.6 11.7x15.6'10.4x13.9
fas - RRIEE BFRER (#4Zmm) : 0800x ' 0968 0.800x | 0908x 0534x | 0.602x 0409 | 046ix
WD I bop- . — s WEME (RiE~ - %R ) ! 58.2 | 57.9 905 | 846 2329 | 2200 3451 | 3235
o 2 i P 130 ——— TIEERES I 7.9x9.3 1 6.6x7.9 7.9x9.3 | 7.0x8.3 11.8x14.0,10.6x12.6 15.4x18.3113.9x16.4
172" ! : M 1419 11925 —> 1/37 BHALAER ' 5.3x7.1 1 45x6.0 5.3x7.1 | 48x63 8.0x10.7 ' 7.2x9.6 104x139! 9.4x125
fls | 112" 18x24 | 24x32  —> 1/27 HEHNIFEE ! 0.900x | 1.068x  0.900x | 1.008x  0.600x | 0.669x  0.460x | 0.512x
WD i % 025 1 020x —> kR 0 527 | 539 850 | 801 2203 . 2098 3239 | 306.2
0 28 #;HKE &) . 71x84 1 6.1x7.2  T.1x84 w 6.4x7.6 10.6x12.6: 9.6x11.4 13.9)(16.4:12.6)(14.9
12" g g 48x64 | 41x55 4864 | 43x68 1.2x96 | 65x87 9.4x125 ' 85x114
sk . | | | j i 1.000x | 1.168x  1.000x | 1.108x  0.667x | 0.736x  0511x | 0.563x
( )
CCTV%%QCXT_“:UEI THRT MTF (Lp/mm)
3um RY-H 160 Lp/mm
VS-VM
Sum 100 Lp/mm
7um < 70 Lp/mm
V-V
10um - 0 50 Lp/mm
& B
&
N\ _J

HOURS ’

PEEE————
www.hours-web.com



1"CCTV Lens / 51" FCCTVES L

VS-H1 Series [HIES
1"F BRI RIAICCTVESL

=R EN:

17. 526,

o % 400-900515, 1" 5
LATROEHAICCTVER K,

o HIMERIEEMN6MM
ZE100mmATESL AR,
AIREEIERCMOSIEER,

53.5 4

. BEE,

FHERR

5 S=R

Bt ERL.

$64.5
$63.5

$22.8

VS-1214H1

59 17. 526 59 17. 526, 48 17. 526,
4 4 4
1.6 3
o E ;
-] =] =
| - . & e
B o ] g 5 o 2 | g 8
o~ 1 B S — ' |
3 = 3 3 3 € N A
| 2-M2 Lock screw | 2-M2 Lock sore 2-M2 Lock screw C-mount
VS-2514H1 VS-3514H1
45 17.526 33.5 17.526 35.0 17.526,
. 4 4
4.9 2.5 1.5
g
T T b 2
g = PN gl =9 ©l w gl 2 _ . ol s
) ;| ] | L I — = = — S b =t -
< g 1 - &8 < g g = 9 2 - T
2-M2 Lock screw C-mount 2-M2 Lock screw - G-mount / G-mount
2-M2 Lock screw
VS-5018H1 SV-7525H SV-10028H
44.5 417. 526, 49.5 17.526_ 66.5 17.526_
1.2 2-M1.7 Lock screw 4 2-M1.7 Lock screw 4
S “ w0 g p g
& 7 & & E
o @ 5 o < ol = = . 4 .
3¢ e 93 A N e o 1 gy - — e
2-M2 Lock screw C-mount Comount Srmount
g VS-0618H1 VS-0814H1 VS-0814H1N VS-1214H1 VS-1614H1N
£iE 6 mm 8 mm 8 mm 12 mm 16 mm
FNO F1.8~ 16 F1.4~16 F1.4~16 F1.4~16 F1.4~16
ing=2) 87.3° x 87.3° 71.8°x71.8° 72.7° x72.7° 50.8° x 50.8° 38.6° x 38.6°
ZEIEWD 100 mm 100 mm 100 mm 300 mm 300 mm
TVEE -0.61 % -0.54 % -0.35% -0.32 % -0.65 %
BIEGE Manual(Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
AR e T I " g
EEOR - M55 P=0.75 M55 P=0.75 M355 P=0.5 M305 P=05
3 205 g 1759 1859 130g 120g
g VS-2514H1 VS-3514H1 VS-5018H1 SV-7525H SV-10028H
pdic) 25 mm 35 mm 50 mm 75 mm 100 mm
FNO F1.4~ 16 F1.4~16 F1.8 ~16 F2.5 ~ Close F2.8 ~ Close
L= 25.1° x 25.1° 18.3° x 18.3° 12.8° x 12.8° 8.6 x 8.6 6.6 x 6.6°
ZEIRWD 300 mm 300 mm 500 mm 1200 mm 2000 mm
TVEE -0.46 % -0.31 % -0.01 % 0.05 % 0.08 %
BIEHE Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M1.7) Manual (Lock screw M1.7)
Eﬁ’t‘;)ﬂ‘- 1n 1n 1w 1n »In
BEOR M305 P=05 M 305 P=0.5 M405 P=0.5 M34 P=0.5 M37.5 P=05
58 849 929 128 g 849 104 g

HOURS

www.hours-web.com



RSN

%

1"CCTV Lens

VS-H1 Series

VS-1214H1
12 VS-1614H1N
e VS-2514H1
00~300 VS-3514H1 Vs
poe ~300 e -5018H1
o v 296.3x296.3 300 ~300 L
2/3" 212.5x212.5 0 ~500
g 186.8x221.1 e 137.3x187.3 3 %0 500
WD 277.3 0.0'38)( 0.053x . 86.6x102.4 6(5).4)(95.4 111.5x111.5
0 [ 274, 6xé74 6 : 134.0 521.3 | 187.6 0'0.82)( O.Z’I):73‘I : 70.3x83.2
5  1408x140.8  363.2x363.2 | 12621 2403 18x 0101
2/3 173.2x204.9 | - 134.0x134.0 2508.7 } 2 X
B omes | weieo Dmengng MIREON covamo | Ton0s WSS or8 49974 4546
= X ! - B .5x100. - - . 3xi . | .
o 12:1X ! 0.080x 0.031x i 0 0840 : 356.0x420.0 |  69.6x82.4 507.1%600.0 : SRS 1126.0x1126.0 ' 101.4x101.4
5 i .084x T : ! 53.8 . - .
82.9 0.020x ! x63.6 710. ]
" : 261.2 ; | 0.102x ‘ .0x840.0
1 136.7x13 i . 136.3 0.014x | 64.0x75.7
N s . sx1015-27 | 931831 184.6x184.6 | 98.8x98.8 642.9 ' 1995 2553 : 0.132x oolox T odiix
. ‘ . 8x98. ; .
e 083 2 . 58.7x69.4 s | e 288.7x288.7 |  92.3x92.3 TRl | 2123 2501.1 X 74
L o x| 0.121x T 18212154 |  58.2x68.9 6000 ] 77.1x77.1 563.0x563.0 | 93.1x93.1
- s : 57.7 R ot 6x 003 | 0.122x o NS CX57:5 W5.0x4200 | 58.7x694
LY 57'3X63'3 | 69.5x695 a2 |77 — 19 | M4 T : 0.146x ooox | o12ix
OX R . . . -
e = | 43.8x51.9 77.2x913 | 49.0x57.9 190.8x190.8 |  79.9x79.9 261.9x2619 | 2202 16690 )
WD 55 9" 7 0162 0.092x | 0.145 120.3x1424 | 50.4x59.6 165.1x195.3 T0&a04 375.3x375.3 |  86.0x86.0
- ' 424 : 195X 0.059x ! . 3 1 444x825 236 T —
" 126.9 ! L 0.141x .7x280.0 5.
1 67.8; ! I 86.2 0.043x | 4.2x64.1
2 .8x67.8 ' 55.2x55.2 3129 ! 0.160x
= . - 92.3x92.3 | - . 149.0 L 0.030x |
2/3 617. i 0.131
= 428606 | 34812 58.2x68.9 : 23-3)(64'3 142.5x1425 | 69.9x69.9 = 51716 I 12530 | 358 9X
B 0.166x | 0.20 OO .6x48.0 89 - 5x197.5 | 64.3 ! -
: 204x 9x106.3 X639 281. '
Wb I 0122x | 0.175x 0T 481622 1246x147.4 | 40.6x48.0 77 D2BLS | 799799
3 1 ; 46.3 j 38.3 120 . 0.161x 0.057x ! % 5x210.0 | 50.4x59.6
e - 36.9x369 | 31.5x31 L 82.2 YR Lo 0.040x | 0.141x
; men | S 57.2x672 | 40.4x404 : 569 5041
fas : 3x275 | 19.8x235 B.0xa28 : 79.3x793 | 433x433 2 L 232
WD - 0.305x | 0.358x 6 | 254x301 50.0x592 ! 6x1126 | 56.0x56.0
0 - 0.197x ' 0.279 | 27.3x323 71.0x84.0 '
1 i I - 279X 0.142x [ XER | 35.3x41.8
10 : ! ' 55.8 \ 445 ! 0.260x 0.100x | o2
2/3 v i 28.7x28.7 : 125.0 h 89.0 ! .201x
! 23.7x23.7 254.4
s u I PRI - XS 39.6x39.5 | 27.9x27.9 . ! 170.7
! T . B Il - .
WD ; ! | 149x17.6 24.9x295 | 1 56.3x56.3 | 37.4x37.4
! 0.393x ! 0.476 | 7.6x20.8 35.5x42.0 |
i i ! 270X 0.285x i -5x42.0 | 23.6x27.9
L ; ; . 0.403x o200 |
213" l ) - 84.1 | - ' 0.301x
: ‘ i ‘ 66.3 171.2 |
e ; ! ; 26.4x264 | 20 : . 1293
' T ‘ .7x20.7 37.5x375 |
) ! 1 166x197 | 130 5| 281x281
| | .0x15.4 23.7x28.0 |
1 0 i - 0.427x i - - ! 17.7x20.9
20 | ! | . 0.545x 0.300x
23" T i . 63.5 | - . 0.401x
0 ' ! | 52.9 129.3 \
xR ! ! : 19.8x19.8 | 16 : \ 104.5
i i ! .4x16.4 28.1x28.1 T
wo | | . et Tonittrrans s
2 1 ! | : 0570x | o 7x20.9 1 14.2x16.8
5 0 : 0 ‘ -688x 0401x
23" i ! - 51.2 ; 205 : | 0501x
. ; ' ‘ - 104.5 T
1a | 15.8x15.8 | 1 i 87.8
i ! . 3.6x13.6 225x22.5 |
WD y . . 10.0x11.8 ' 8.6x10.1 ” " '+ 18.7x18.7
‘ .6x10.
. I : ! : 0.712x 1 5 2x16.8 | 11.8x14.0
0 ! J I .830x 0.501x :
23" ! ! . 42.9 ! 38.0 ;;7 5 . 0.602x
fh ' 1 - 1B2x132 | N - L 759
| T 1 . .6x11.6 18.7x18.7 '
WD ; ‘ ; 83x98 | 7.3x86 aas0 16.0x16.0
" ! ' o 8140 | 101
o | : 1 : 0855x | 0.973x ol x12.0
2/3" : ] . 37.1 | 334 . ! 0.702x
s T | : Maxiia 10 76.0 ' 67.1
i ‘ . \ -1x10.1 16.1x16.1 !
WD | ! - 7.1x8.4 ! 6.4 - - ' 14.0x14.0
0 g ! .4x7.5 101x120 |
m 1 L ! 0.997x ! 1 . ] 8.9x10.5
e ; ! : 11 0701x | 0.802x
‘ ; .
faE : l ; ! 67.1 ; )
wo E ; | i 14.1x14.1 . 12.5x12.5
L 1 ! T "
- i E ! : ! 8(')9)‘1 0.5 ! 7.9x9.3
23" : ; : : .801x 1 0.902x
fi : ! : ; 602 | 546
! i ! : 125125 | 1
_ 1 ! 1 o0 7'?(;1'2
50 . ! ; ! . . 1x8.4
2/3 i : . : 901x | 1.002x
o . ; ' ; 54.7 ’ ]
! Il I T .
| : E ‘ 11.2x11.2 ' 10.2x10.2
‘ 7.
l ! ' :;(‘)8-4 | 646
001x | 1102x
E&EA (BALmm)
—_— o N
_—
. T o tees — 1 i
HEYMEEE

—— 2/ AR
— mkfEE

23 1804 24332
fE 0250 020

:
EHEE (1)

HOURS °

www.hours-web.com



Mega Pixel Machine Vision CCTV Lens/ s#&=CcCTVE:L

VS-SY Series

o THF2/3"FEHL
o EEFEM I8 ~16mmzL3/ M Fh
o SHETESNWLE, BIRE T/ NEMWIKIT

VS-0826SY VS-1220SY

39 17.526
4

2-M2 Lock screw
D 3 3.0 25

48 17. 526,

d

—
[ - - " o
< =l - - i
3. = =
4 = 2 2 =
g o L e E ol £ o o g 5 L -d= . Bl _1sl s
o = 5 s 9 (Y - H-— S 3 o = g [l s
g sl |z
C-mount C-mount
G-mount
2-M2 Lock screw 2-M2 Lock screw

VS-0826SY VS-1220SY VS-1620SY
£i5 8 mm  (8.17) 12 mm__ (12.32) 16 _mm __ (1631)
BAORL 1:26 1:20 1:20
FE F4822°6 ~ . 6(:%(35e F322£ ~ 3??56 F 20 ~ Close
o . X . o X b 7° .2°
A (/3 (Diagonal: 70.3°) (Diagonal: 50.2°) ? 7(Dia(_;(ona%:9 §7.9°)
Z=i1EWD 100 mm 100 mm 100 mm
TVAEE (2/3") 082 % 135 % -047 %
RAEA Lot M2) (Lo anal \12) (Lockanual \i2)
RITRE Visible Visible Visible
0 C-Mount C-Mount C-Mount
N 17.526 mm 17.526 mm 17.526 mm
BATE (max.) 2/3" 2/3" 2/3"
BREOE M 27 P= 05 M 27 p= 05 M_27 P=05
=8 -9 -9 - g
IR - BFER I CCTViESkRILLE
VS-0828SY VS-1220SY VS-1620SY HRERYT T
(@ f12 (Lp/mm)
©~100 ©~100
100 100
100.0 x 118.3 645x764 483x 571 U
67.6 x 90.1 436 x58.2 327x435
fas 0071 0.110¢ 0.147x 3um ) 160
WD 1202 | 417 889 | 700 5150 | 810
o5 M3 1164x137.7  634x632 1732x2049, 470x556 229.0x2710; 40.1x475
112" 787x1049 | 36.1x481 117.1x 1561, 318x 424 1548x 2065, 27.1x 36.2
5= 0061x | 0133 0.041x_ | 0.451x 0031x 1 047x
WD : 1405 | 526 262 | 67.3 5um 100
, ! 87.7x103.7 | 37.0x438 1164x137.7| 34.1x404 VS-VM
12" ! 59.3x79.0 | 250x333 78.7x 1049 ' 23.1x308
fiesg : 0081x | 0.192x 0061 |  0.208x
WD . 894 | 415 1662 1 571
5 W ; 582x689 | 306x362 772x913 | 297 x 35.1 7um "
112" | 303x525 | 207x276 522x696 | 20.1x 26.8 1% o s
e I 0122« | 0232 0092« | 0.239x "
wD ! 644 | 335 1215 | 495
, W ; 438x519 | 260x30.8 57.7x68.3 | 264x31.2
112" : 206x395 | 17.6x234 390x520 ' 17.8x238
fie l 0162x | 0.273x 0123 | 0.269

SV-0000SY

E R (Bfmm)

— WEEE (FE KR )
103 130 ——> TIERRES

113" 14x19 ' 1925 —> 1/3"CCDHFER

112" 18x24 | 24x32 —> 1/2'CCDHFEHE

BE 025¢ 020k —> SEkIEE

v
BINEE (t)

10 HOURS

www.hours-web.com



1.1" CCTV LENS / 3115 2 H9CCTV L
VS-HV Series KK

S IF1 L

M8mm-T16mmIt =FRE Sk AR

BT B PECCTVESS

VS-0828HV

62.5 17,526
. 54 17.526, 50.5 17.526
— 3 4 4 A‘
5 o | of | i
i by . | P
5 g A || = =T I ) O - __{ 2 e I . _ B
o © of 3 N © 4 g o - |
1 . i =
\_C-mount 1| = — =
| 2-M2 Lock screw \_C-mount 2-M2 Lock screw C-mount
HHE VS-0828HV VS-1220HV VS-1620HV
jeSiizl 8 mm (8.24) 12 mm (12.39) 16 mm (16.53)
BAOEL 1:28 1: 2.0 1:2.0
Sl F 28 ~ 16 F 20 ~ 16 F 20 ~ 16
W (01 67.1° X 857° 46.7° X 61.9° 354° X 476°
s (LT (Diagonal: 99.3° ) (Diagonal: 75.1° ) (Diagonal: 59.3° )
ZEFEWD 100 _mm 100 mm 100_mm
TVAE (119 -1.20 % -1.29 % -1.31 %
BIESE Manual  (Lock screw M2) Manual  (Lock screw M2) Manual  (Lock screw M2)
RIHRIS Visible Visible Visible
O C-Mount C-Mount C-Mount
AT E 17.526mm 17.526mm 17.526mm
EATA (max.) 11" 1.1" 1.1"
EEOR M 55 P= 0.75 M 405 pP= 0.5 M 355 P= 05
R -9 -9 - g
= =E 5
DN - fAER

E R (BfImm)

— WENE (KL~ XR )
— T1EEE

— 1/3"CCDIIFERE
— 1/2"CCDIIFEE
— ELEE

103 1 130
14x19 ' 19x25
18x24 | 24x32
0.25x 1 0.20x

113"
172"
f&E

v
BINEE ()

MRS

Bl | g »
8 VS-0828HV - (@)
12 VS-HV VS-1220HV — O
16 VS-1620HV = O
25 VS-2514H1 A O
35 VS-H1 VS-3514H1 A O
50 VS-5018H1 A O
O : serEEEHH=
A BEEA AEE. EERSSETAEE TR

VS-0828HV VS-1220HV VS-1620HV
) 100 100 100
o M 1451 x 198.6 96.3x 131.8 73.0x 100.0
112" 100.0x 118.3 66.4x 78.5 50.4x 59.6
g 0.071x 0.107x 0.141x
WD 192 | 466 2040 | 685 5339 | 195
o5 M 1689x231.1:780x 1068 257.5x3525 70.1x959 3433x470.0, 60.2x825
112" 116.4x137.7) 53.8x63.6 1775x210.0 | 483x57.1 236.7x280.0 41.5x49.1
R 0061x | 013 0.040x | 0.147x 0030x | 071X
WD 522 | 271 1372 | 501 2583 | 650
, M 851x1165 | 536x734 127.2x174.11 548x750 1717x2360! 512x701
112" 587x694 | 37.0x438 87.7x1037 ' 37.8x447 1183x1400' 353x41.8
= 0421x | 0192 0081x |  0.188x 0.060x | 0.201x
) i 866 1| 385 1645 1 540
s M ! 851x 1165 ' 452x61.8 1132x154.9' 444608
172" : 587x694 | 31.1x368 78.0x92.3 | 30.6x362
fg : 0.121x 1 0.228 0091 | 0232
) : ! 194 | 459
, M ' | 85.1x116.5 | 39.3x53.8
112" : ! 587694 @ 27.1x321
faER i : 0121x |  0.262x

HOURS

www.hours-web.com



CCTV Lens for high speed camera./ &Nt CCTVEL

VS-085 Series
4/3 11|17 [1/1.2

Fno 0.85AMBMEWAN. 1HEE (ZHIAE)
XFR4/3" KA1
BXYHE. {fKE

VS-25085/M42 VS-50085/M42 VS-50085/C

FHMREK EMRR AN EFEN
83.5 19.53, 85.5 17.526 79.5 19.53 81.5 17.526
2-M2 Lock screw _4_ 2-M2 Lock screw 2-M2 Lock screw A 2-M2 Lock screw 4
= 1 [ =F T 1 ] — 1 [E | | [E

0| [~ | = | = 0| | " o | 3
2 s | [P 2 . 2 3
< = 2 = T o T
a — T m == o - - _—

8| B| | — & ¢ Sl e - @it—— 8| g & 2 — 4] 8|y o [ &

M || g ¥ [ [T 7 ] gl o7 :

= = e &
- e - ="
C-mount — — C-mount

paki-4 VS-25085/M42 VS-25085/C VS-50085/M42 VS-50085/C
j=3ii=) 25 mm 25 mm 50 mm 50 mm
ENO F0.85 ~ 16 F0.85 ~ 16 F0.85 ~ 16 F0.85 ~ 16
) 30.3° x 40.0° 30.3° x 40.0° 15.9° x 21.0° 15.9° x 21.0°
EEWD 170 mm 170 mm 240 mm 240 mm
TV&E -1.21% -1.21% -0.30 % -0.30 %
BIESE Manual (Lock screw M2) Manual(Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
EEGH 4/3" 4/3" 4/3" 4/3"
BEOE M55 P =0.75 M55 P=0.75 M62 P=0.75 M62 P=0.75
B8 570 g 570 g 610 g 610 g
0 M42 P=1.0 c M42 P=1.0 c

3% C-mount's maximum aperure ration is 1:090

Inner Surface Inspection of Bottles and Containers - Rz T Bl A m B2 e Ml i 65 Sk

12

VS-WA Series

NMATREFERERNRRX HESR

VS-WAQ6520/SZVSTIR R FE IR ITHY
B AREREETAEL -
KIfEEEERI - RIE 7SR ZEESE -
FETE - RRIYE -

|

Space for Lighting

O 1.M4p4
O 288 B/IHESANROTMMMT
3.EXR  ERA0.Tmm

VS-WA06520/S
100.0 (0,086~ o ) 1488 .52

2-M2 Lock screw ﬁ\fﬁo Fz‘% imTé
=) 32.0°x 43.2°
= ) ZEWD 100 mm
S 1 BIEAE Manual (Lock screw M2)
I R | [ U BEESH 1/3"
2 g EROE W6 P=0.75
8 410g

HOURS

www.hours-web.com



1" SWIR Lens / &1 8 EHEESWIRESSL

VS-H1-SWIR Series M
ST MRV ET IR RS WIREEK FHEL

o HZANIR/SWIR i&it 5;-3-25 417. 526,
o BRGERTE
o STRF1UENL

® 700nm-2000nmAyEIREI=R

$64.5
$63.5
$22.8

VS-0814H1-SWIR FNRG VS-1214H1-SWIR VS-1614H1N-SWIR

59 17. 526, 18 17.52%
: 4 45 17. 526,
1.6 3 4
g 4.9
= ] i
I - iR E -
2 g + = ] BN : 2 _§ ® @ 7
i : S o A I
E ~ 8 g
< = - g
= C-mount r < =
- 2-M2 Lock screw 2-M2 Lock screw C-mount

44.5 17.526
33.5 17. 526, 35.0 17,526, :
: : 1.2
25 L5
10|
=1
& 7 J S 1.
gl 9 “ w ol =@ 1 . ol w g g ] = (1IN g 3
s g 1 3§ 3 s g I (i 2
C-mount 2-M2 Lock screw C-mount

2-M2 Lock screw

VS-0618H1-SWIR VS-0814H1-SWIR VS-1214H1-SWIR VS-1614H1N-SWIR VS-2514H1-SWIR VS-3514H1-SWIR VS-5018H1-SWIR
=iz} 6 mm 8 mm 12 mm 16 mm 25 mm 35 mm 50 mm
FNO F1.8~16 F1.4~16 F1.4~16 F1.4~16 F1.4~16 F1.4~16 F1.8 ~16
=] 87.3° x 87.3° 71.8°x 71.8° 50.8° x 50.8° 38.6° x 38.6° 25.1° x 25.1° 18.3° x 18.3° 12.8° x 12.8°
EEWD 100 mm 100 mm 300 mm 300 mm 300 mm 300 mm 500 mm
TVXE -0.61 % -0.54 % -0.32 % -0.65 % -0.46 % -0.31 % -0.01 %
BIERE Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2) Manual (LockscrewM2)  Manual (Lock screw M2) Manual (Lock screw M2) Manual (Lock screw M2)
R RS FERL I RS FERLTIh FERLAIH RS RSP
EESH 1" 1" 1" 1 1" 1" 1"
REOR - M55 P=0.75 M355 P=0.5 M305 P=05 M305 P=0.5 M305 P=05 M405 P=0.5
52 205 g 1759 130 g 1209 84g 92g 128 g
VS-2514H1-IR1200 I sERisNE
LAHE 33.5 417. 526 100%
1200nm 25 | //— \\
0, I ‘\
w© 80% S — | \\
o
o & - Yl \\
< g T 3 ® 60% | ]
= § % |
i 8 409 |
VS-2514H1-1R1200 ) /
=51 25 mm 0% |
ENO F1.4 ~ 16
B0 25.1° x 25.1° %
ZEWD 300 mm °
TVEE T 046% 700 800 900 1000 1100 1200 1300 1400 1500 1600 1700 1800 1900 2000
BIERE Manual (Lock screw M2) [
I J@REIS (1200nm) B (nm)
SEARE 1" — SWIRZR ! vs2stant-swir 7 FH700nm 2 2000nm, P19 255 255 480%
gfjﬂ?é % —— VS-2514H1-IR1200 HACE1100nm %) 1300nm, 25 %L I
= g

[t
OURS 3

www.hours-web.com



4K resolution & IR-Corrected FFL ~ 4k - 4T4MEZIECCTVEE Sk

14

VS-H-IRC/11 Series

117 |1 J11.2°
THFE12MP - 1.1" - 3 ASHEKR4k D Hi R
IIMRIE - FEMNTT AR TN B ERBER/IME
o 4K PR
o IMRIE - EMIMAERIINIBERBRNME
o THF12MP - 1.1" - 345K
o =AMEFBERZEINT12mm,16mm,25mm =

VS-H1218-IRC/11 VS-H1618-IRC/11

94.5
92 17.526
e ; 2
< &
s I | I = s
o= B2 8|
2-M2 Lock screw C-mount

VS-H2518-IRC/11 Sz FASEf)

109.5 17. 526

=0. 75

¢ 46
M43 P;

\C-mount

ITSTRGE AT HESa%

1 E&=E
RISk VS-H-IRC/11 SERIES
YR THMEIR R LTINS
= 8 Technology Corparation

1-9-19 Azabudai, Minato-ku, Tokyo 106-0041, Japan
TEL:+81-3-3560-6668 FAX:+81-3-3560-6669
https://vst.co.jp/ info@vst.co.jp

VST Europe AG
, 8406,
TEL:+41-52-508-0109
VST Europe B.V. ~342. VST Europe B.V.
1101 CT Amsterdam, The Netherlands :‘1%’1“‘2’1?:!%;:%2:'!2!: ?’?\29' Netherlands
P e TEL:+31-20-305-1310 TEL:+31-20-305-1310
RERB HNRERE
VS-H1218-IRC/11 VS-H1618-IRC/11 VS-H2518-IRC/11
£iE 12 _mm 16 _mm 25 mm (25.42)
FNO F 1.8 ~ Close F 18 ~ Close F 18 ~ Close
Ei=:] 463° X 614° (Diagonal: 73.3°) 36.0° X 48.7° (Diagonal: 59.6° ) 233° X 31.7° (Diagonal: 39.2° )
ZEIEWD 300 mm 300 mm 300 mm
TVEE -137 % -1.95 % -1.00 %
BRIESE Manual _ (Lock screw M2) Manual _ (Lock screw M2) Manual _ (Lock screw M2)
R Visible ~ 850nm Visible ~ 850mn Visible ~ 850nm
Ez:{m| C-Mount C-Mount C-Mount
EEA 1.1" 1.1" 1.1"
REOR M 52 P= 075 M 405 P= 05 M 43 P= 0.75
g 340 g - g 390 g

HOURS

www.hours-web.com



3CMOS FFL / 3cMostaMEEER GEEL

VS-H/3CMOS Series
3CMOSIEN S REFEEEL =N

* #51/1.8", 3.2MPFI3.45umHER S 2 .9
o SFREEIERTHIERE, 8mm, 12mm, 25mm

T hrit#tZi 73 CMOSHRHL,
(EERFPRGBEEEH—LF MK

VS-0818H/3CMOS VS-1218H/3CMOS

57 17.526, 56 17.526_

¢32
$29
M27 P

|

I

]

|

|

723
— 5]
B

¢ 32
M30. 5
P=0.5
|
|
|
I
|
%8 -v- 8
SON0%/B180
21 &
|

2-M2 Lock screw C-mount 2-M2 Lock screw C-mount

VS-2518H/3CMOS

47.5 17.526_
-
0] A‘
(=]
& s =
=3 o~ o) g
© e I=y — - —HeiE—s — -
e © 2 7
2-M2_Lock screw C-mount
VS-0818H/3CMOS VS-1218H/3CMOS VS-2518H/3CMOS
=== 8 mm (8.28) 12 mm (12.13) 25 mm (25.26)
FNO F 18 ~ Close F 18 ~ Close F 18 ~ Close
0w 36.6° X 47.3° (Diagonal: 57.9°) 25.4° X 33.2° (Diagonal: 41.3°) 12.2° X 16.0° (Diagonal: 20.0°)
FEWD 100 mm 150 mm 200 mm
TVEE -0.81 % -0.80 % -0.16 %
BIESE Manual _ (Lock screw M2) Manual _ (Lock screw M2) Manual _ (Lock screw M2)
e Visible Visible Visible
EESH 1/1.8" 1/1.8" 1/1.8"
bt imEES M 305 P= 0.5 M 27 P= 0.5 M 305 P= 0.5
= - g 94 g 100 g

HOURS

www.hours-web.com



10MP Fixed Focal Length Lens / 155 &= R 28maCCTVEEL

VS-1628H10M

1F B BEIINL,

MAROEIEIBRBIZ 200Lp/mmEiEEREE
EC R ESRERIERR

RRE

VS-1628H10M
£ (f) 16 mm
48 17. 526, BAORL 1:2.8
S F2.8~ 22
2-M1.7 Lock screw 4 ey (2/3") 24.9° x 29.3°
ZEWD 350 mm
TVERE (2/3") -0.02%
BIERE Manual (Lock screw M1.7)
] 2 1 PidN Visible
T =0 C-Mount
3 5 3 =11k 5 B 17526 mm
R 11 ) EET 2/3"
—1 RO M34 P=05
— g8 #4106 g
RY ¢38(max.) x L =48 mm
C-mount

Lens for S-Mount Board Cameras / &tgissL

VS-B Series

o BRIEA ASHRSk (M12)
s fN\EERBAER

VS-B0624H

16

20.5 6. 02 (o)
14
££56 (f) 6 mm
BRAORE 1:24
M (1/2") 43.5° x 56.0°
GBS 6.96 mm
S Mechanical Back 6.02 mm

= L I S #O M12 P=05

© =~ VSR (1/2") 271%
Eat A 172"
52 #8g
RY 17 (max.) x L= 20,5 mm

HOURS

PEEE————
www.hours-web.com



